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1 |deiEE 1.7E+3 1,727.5
2 |FEHR 4.4E+2 4415
3 |EFR 2.6E+2 2593
4 |EHE 8.6E+2 857.9
5 |MHEER 3.6E+2 363.8
6 |ILEE 2.8E+2 281.6
7 |BER 6.1E+2 610.9
8 |ZWE 1.6E+3 1,624.9
9 [HHARER 2.6E+2 257.3
10 |HER 6.3E+2 633.9
11 [HER 41E+3 4,106.6
12 | FER 3.4E+3 3,386.6
13 |[RREER 4.5E+3 4,450.1
14 [#E)IE 2.7E+3 2,669.5
15 [FiRg 1.1E+3 1,055.4
16 |EWE 1.3E+2 130.0
17 [RAIIIE 3.6E+2 357.4
18 |1BHE 1.8E+2 175.0
19 [ILELE 5.4E+1 54.1
20 |REHFR 2.8E+2 276.5
21 |IRBR 1.8E+2 182.0
22 |E%MER 4.1E+2 406.8
23 |BHMIR 2.1E+3 21343
24 |=ER 5.1E+2 510.5
25 |HER 4.1E+2 412.6
26 |HEAT 1.2E+3 1,248.4
27 | KBRFF 3.1E+3 3,150.0
28 |EER 2.2E+3 2,167.2
29 |RRE 8.0E+2 800.6
30 |FnERILE 4 6E+2 464.7
31 |BIE 6.0E+1 59.9
32 |BRE 2.7E+2 2712
33 |RILE 7.9E+2 789.8
34 |[EEBR 1.3E+3 1,273.7
35 |lLOg 6.4E+2 636.6
36 |EER 1.4E+2 1445
37 |BINER 2.1E+2 213.8
38 |BiRR 31E+2 308.6
39 |=HE 6.4E+1 63.7
40 |$ERE 2.6E+3 2,591.5
41 [EER 4.1E+2 4127
42 |RIGE 6.5E+2 654.2
43 |REXR 1.7E+2 172.9
44 | K7 R 4 9E+2 488.2
45 |EIFE 2.8E+2 284.8
46 |BRIEBE 4 6E+2 464 .4
47 | HiEE 1.4E+3 1,402.5

2E 4 5E+4 45,430.1
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